City of Rockingham Councillor Fees and Allowances for period 1 July 2020 to 30 June 2022



Title	First Name	Last Name	Date Range for Fees	Period of Payment	Date approved	Amount
Cr	Lorna	Buchan	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 8,600.00
Cr	Craig	Buchanan	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 8,600.00
Cr	Rae	Cottam	1 July 2020 to 30 September 2020	1st quarter 23-Jun-20		\$ 8,600.00
Cr	Sally	Davies	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 8,600.00
Cr	Hayley	Edwards	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 8,600.00
Cr	Deb	Hamblin	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 14,071.88
Cr	Mark	Jones	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 8,600.00
Cr	Leigh	Liley	1 July 2020 to 30 September 2020	1st quarter	23-Jun-20	\$ 8,600.00
Cr	Lorna	Buchan	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Craig	Buchanan	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Rae	Cottam	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Sally	Davies	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Hayley	Edwards	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Deb	Hamblin	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 14,071.88
Cr	Mark	Jones	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Leigh	Liley	1 October 2020 to 31 December 2020	2nd quarter	21-Sep-20	\$ 8,600.00
Cr	Lorna	Buchan	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Craig	Buchanan	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Rae	Cottam	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Sally	Davies	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Hayley	Edwards	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Deb	Hamblin	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 14,071.88
Cr	Mark	Jones	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Leigh	Liley	1 January 2021 to 31 March 2021	3rd quarter	9-Dec-20	\$ 8,600.00
Cr	Lorna	Buchan	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Craig	Buchanan	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Rae	Cottam	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Sally	Davies	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Hayley	Edwards	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Deb	Hamblin	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 14,071.88
Cr	Mark	Jones	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Leigh	Liley	1 April 2021 to 30 June 2021	4th quarter	17-Mar-21	\$ 8,600.00
Cr	Deb	Hamblin	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$14,071.88
Cr	Craig	Buchanan	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Rae	Cottam	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Leigh	Liley	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Sally	Davies	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Hayley	Edwards	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Mark	Jones	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Lorna	Buchan	1 July 2021 to 30 September 2021	1st quarter	21-Jun-21	\$8,600.00
Cr	Deb	Hamblin	1 October 2021 to 16 October 2021	2nd quarter	22-Sep-21	\$2,467.39
Cr	Craig	Buchanan	1 October 2021 to 31 December 2021	2nd quarter	22-Sep-21	\$8,600.00
Cr	Rae	Cottam	1 October 2021 to 31 December 2021	2nd quarter	22-Sep-21	\$8,600.00

City of Rockingham Councillor Fees and Allowances for period 1 July 2020 to 30 June 2022



Title	First Name	Last Name	Date Range for Fees	Period of Payment	Date approved	Amount
Cr	Leigh	Liley	1 October 2021 to 16 October 2021	to 16 October 2021 2nd quarter		\$1,507.94
Cr	Sally	Davies	1 October 2021 to 31 December 2021	2nd quarter	22-Sep-21	\$8,600.00
Cr	Hayley	Edwards	1 October 2021 to 31 December 2021	2nd quarter	22-Sep-21	\$8,600.00
Cr	Mark	Jones	1 October 2021 to 16 October 2021	2nd quarter	22-Sep-21	\$1,507.94
Cr	Lorna	Buchan	1 October 2021 to 31 December 2021	2nd quarter	22-Sep-21	\$8,600.00
Mayor	Deb	Hamblin	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$28,326.99
Cr	Dawn	Jecks	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$7,092.06
Cr	Leigh	Liley	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$7,092.06
Cr	Mark	Jones	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$7,092.06
Cr	Robert	Schmidt	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$7,092.06
Cr	Brett	Wormall	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$7,092.06
Cr	Caroline	Hume	17 October 2021 to 31 December 2021	2nd quarter	20-Oct-21	\$7,092.06
Mayor	Deb	Hamblin	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$34,350.00
Cr	Hayley	Edwards	1 January 2022 to 31 March 2022	3rd quarter & Deputy	2-Dec-21	\$18,029.61
Cr	Craig	Buchanan	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Rae	Cottam	1 January 2022 to 31 March 2022	nuary 2022 to 31 March 2022 3rd quarter		\$8,600.00
Cr	Caroline	Hume	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Dawn	Jecks	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Mark	Jones	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Leigh	Liley	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Sally	Davies	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Brett	Wormall	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Lorna	Buchan	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Cr	Robert	Schmidt	1 January 2022 to 31 March 2022	3rd quarter	2-Dec-21	\$8,600.00
Mayor	Deb	Hamblin	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$34,350.00
Cr	Hayley	Edwards	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$18,029.61
Cr	Craig	Buchanan	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Rae	Cottam	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Caroline	Hume	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Dawn	Jecks	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Mark	Jones	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Leigh	Liley	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Sally	Davies	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Brett	Wormall	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Lorna	Buchan	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00
Cr	Robert	Schmidt	1 April 2022 to 30 June 2022	4th quarter	23-Mar-22	\$8,600.00

City of Rockingham Council Member Travel Reimbursement Register Period 1 July 2020 to 30 June 2022



Title	First Name	Last Name	Date approved	Kilometres	Cents Per km	Amount	
Cr	Matt	Whitfield	30-Jun-20	390	0.6772	\$	264.11
Cr	Barry	Sammels	01-Jul-20	164	0.9397	\$	154.11
Cr	Lorna	Buchan	29-Jul-20	180	0.9397	\$	169.15
Cr	Hayley	Edwards	11-Aug-20	556	0.6772	\$	376.52
Cr	Lorna	Buchan	26-Aug-20	216	0.9397	\$	202.98
Cr	Hayley	Edwards	04-Sep-20	190	0.6772	\$	128.67
Cr	Lorna	Buchan	02-Oct-20	315	0.9397	\$	296.01
Cr	Deb	Hamblin	13-Oct-20	722	0.6772	\$	488.94
Cr	Lorna	Buchan	03-Nov-20	180	0.9397	\$	169.15
Cr	Hayley	Edwards	04-Nov-20	584	0.6772	\$	395.48
Cr	Craig	Buchanan	25-Nov-20	307	0.6772	\$	207.90
Cr	Lorna	Buchan	01-Dec-20	360	0.9397	\$	338.29
Cr	Lorna	Buchan	17-Dec-20	144	0.9397	\$	135.32
Cr	Deb	Hamblin	18-Dec-20	643	0.6772	\$	435.44
Cr	Mark	Jones	22-Dec-20	1106.2	0.6772	\$	749.12
Cr	Lorna	Buchan	02-Feb-21	144	0.9397	\$	135.32
Cr	Lorna	Buchan	09-Mar-21	288	0.9397	\$	270.63
Cr	Lorna	Buchan	31-Mar-21	468	0.9397	\$	439.78
Cr	Deb	Hamblin	28-Apr-21	492	0.6772	\$	333.18
Cr	Lorna	Buchan	04-May-21	144	0.9397	\$	135.32
Cr	Craig	Buchanan	12-May-21	296.6	0.6772	\$	200.86
Cr	Hayley	Edwards	28-May-21	604	0.6772	\$	409.03
Cr	Lorna	Buchan	02-Jun-21	360	0.9397	\$	338.29
Cr	Craig	Buchanan	23-Jun-21	81.2	0.6772	\$	54.99
Cr	Lorna	Buchan	28-Jun-21	288	0.9397	\$	270.63
Cr	Rae	Cottam	02-Jul-21	690	0.9397	\$	648.39
Cr	Rae	Cottam	02-Jul-21	166	0.9397	\$	155.99
Cr	Deb	Hamblin	08-Jul-21	471	0.6772	\$	318.96
Cr	Lorna	Buchan	03-Aug-21	288	0.9397	\$	270.63
Cr	Lorna	Buchan	09-Sep-21	216	0.9397	\$	202.98

City of Rockingham Council Member Travel Reimbursement Register Period 1 July 2020 to 30 June 2022



Title	First Name	Last Name	Date approved	Kilometres	Cents Per km	Amount	
Cr	Lorna	Buchan	29-Sep-21	300	0.9397	\$	281.91
Cr	Deb	Hamblin	15-Oct-21	785	0.6772	\$	531.60
Cr	Lorna	Buchan	03-Nov-21	396	0.9397	\$	372.12
Cr	Hayley	Edwards	03-Nov-21	704	0.6772	\$	476.75
Cr	Brett	Wormall	11-Nov-21	386	0.9397	\$	362.72
Cr	Craig	Buchanan	12-Nov-21	364.4	0.6772	\$	246.77
Cr	Lorna	Buchan	01-Dec-21	242	0.9397	\$	227.41
Cr	Brett	Wormall	23-Dec-21	443	0.9397	\$	416.29
Cr	Dawn	Jecks	14-Jan-22	223	0.6772	\$	151.02
Mayor	Deb	Hamblin	14-Jan-22	733	0.6772	\$	496.39
Cr	Lorna	Buchan	27-Jan-22	144	0.9397	\$	135.32
Cr	Robert	Schmidt	18-Jan-22	608.6	0.9397	\$	571.90
Cr	Brett	Wormall	24-Feb-22	404	0.9397	\$	379.64
Cr	Lorna	Buchan	01-Mar-22	216	0.9397	\$	202.98
Cr	Hayley	Edwards	05-Apr-22	652	0.6772	\$	441.53
Mayor	Deb	Hamblin	05-Apr-22	563	0.6772	\$	381.26
Cr	Lorna	Buchan	05-Apr-22	216	0.9397	\$	202.98
Cr	Brett	Wormall	06-Apr-22	576	0.9397	\$	541.27
Cr	Dawn	Jecks	27-May-22	259	0.6772	\$	175.39
Cr	Robert	Schmidt	31-May-22	714.4	0.9397	\$	671.32
Cr	Brett	Wormall	01-Jun-22	353	0.9397	\$	331.71
Cr	Lorna	Buchan	07-Jun-22	288	0.9397	\$	270.63
Cr	Craig	Buchanan	20-Jun-22	284.2	0.6772	\$	192.46
Cr	Brett	Wormall	28-Jun-22	188	0.9397	\$	176.66
Cr	Mark	Jones	29-Jun-22	556	0.6772	\$	376.52
Cr	Lorna	Buchan	29-Jun-22	144	0.9397	\$	135.31
Cr	Dawn	Jecks	30-Jun-22	143	0.6772	\$	96.84

City of Rockingham Council Member Child Care and Incidental Reimbursements period 1 July 2020 to 30 June 2022



Title	First Name	Last Name	Date approved	Total	Reason
Cr	Rae	Cottam	1-Jul-20	\$ 468.75	Child Care
Cr	Mark	Jones	22-Dec-20	\$ 205.00	Child Care
Cr	Lorna	Buchan	28-Jun-21	\$ 54.40	Train fare
Cr	Rae	Cottam	14-Dec-21	\$ 2,131.25	Child Care
Cr	Dawn	Jecks	14-Jan-22	\$ 31.20	Train fare
Mayor	Deb	Hamblin	23-May-22	\$ 44.00	Breakfast Meeting
Cr	Dawn	Jecks	27-May-22	\$ 5.92	Train fare and parking
Cr	Robert	Schmidt	31-May-22	\$ 17.00	Parking
Cr	Dawn	Jecks	30-Jun-22	\$ 9.84	Train fare and parking